2 % 71 ko] A it ohE sk

© (V3)? @ V9
@viE o e




x>0, y<0Ld ], o= A 0] A T 2 AS BF A2

O VE-y?=x-y
© Va2+ /24 /(- x)?2 =2x
© V7 - V- TP =2

o6 @0 0606 @®60 (ae

.
Qx-y>0, /(x-y)?2=x-y

@y_x<07
- e

=x+(=y)-(-x)=2x-2y
=x—(-y) - (x-y)
=x+y—-x+y=2y




— =N ol A7t H= A &, y ol ol v T &A1 &

A

i
1

F 12H?

@ xy ¢ &2 6 ol

® 20+ 9 AEGL 7o)k,
@)y=3°1% N 2 AA57H B 5 g,
@ x7H WA 2 9] 42 Bak gk

@)y £ WA 6 9 HjZolof @et,

~&B

N= ? I} 2F Az} 7] SJeA ? 7} kA F oo
st

96 = 2° x 3 °|B & xy &= HIEA] 6 (AlF=) o] ofoF gk (D
)

x=12 T, y=6ol® N = vi6 =4 o|ch(@ 4)

y=3 ) x=20E N =8 olth(BL AYshA ort})
xtyEx=2 y=3 0 F23 7S 2ch(@ 49)
x=30]2 y =252 ¢ N2 A7t HAT xy = 69 vl
7} oheh (G 4] g=th)




4. V0ta=b e, b7t AAS HES Sk 1Y e Adsa
SEL EPCE PRYBE I

@ 11 @ 12 @13 @ 14 ® 15

B ~
59 Bt 2 AlF4= 64,81,100,--- 0|22

59 4+ a = 64,81,100 - - -

La=5,2241,.--

wrepA] 7Y 22 A4 a =5, b= V59 + 5 = 8°|T}.
La+b=5+8=13




VB < x < VA B WEshs A% 20 A7 20D ), o] A2 4
Sl7l sh A% A = BT 8 A1

® 87 @97H ® 10 7K @ 11 7Y ® 12 74

Vi<x< VAEWESH= AL x 72 /7 EeH 4< VA< 5

oJoF SFER 16 < A < 25
A=17, 18 --- 23, 24, 25 o|B.& 9 Fjo|c}.




= Vx+1- +xola, S(x) = f(1) + £(2) + f(3) + - + f(x)
2kt ghek 100 oate] AFAS nofl tiste] S (n) 9] gl AHAS7t

ne BE 312H9

@s @)15 (3)35 @ 50 @99

S = (V2-1) + (V3-2) + (V- V3) + .. +

(Va+1-+n)=Vn+1-1
On=8¢m,Sn)=3-1=2

Qn=154M,Sn)=4-1=3
@n=3¢9",Sn)=6-1=5
@Dn=50L ™, S(n) = V51 -1

®n=994 W, S(n)=10-1=9
m2tA O, @, @, ®7F "ot




7. %%}M{@H\/ﬁy:m £ 2000

V3x—2V2y = -2
17 18 18 17
®x=7‘/§,y=7‘/§ @x=7\/§,y=7‘/§
17 18 18 17
= — = — = — = — 2
® x 177\/§,y 178«5 @)« S VB y = V2
@ x:7\/§’y:7\/§

B

V3x-2V2y=-2---©
Ox2V2+Ox V3 & otd

42+2/6y=20/3
+)3z-2/6y=—2/3

Tx =18/3
18
=13
S
18 o) 1=
©°ﬂx=7 32 tidotd
4
5—4—2\/§y:—2, \/§y—37
y=2 V3




(V3+1)x=(4- V3)(V3+2)

(4- V3)(V3+2)
V3+1

_2V3+45
V341
(2V3+5)(V3-1)
(V3+1)(V3-1)
1433
T2

WetA, VaTh =

— 2

N W

+

N |




9.

% < x> & 2ol 4% AHE A5 S ol ), <

V2

o o e ek

+ <

@ 3 @) ® 5 @ 6

B

S

S
+
_

<x>x x ol 7 7P Aol
1<V2< /(15)2<20|B2 < V2>=1
(Fo13 A

V2(vV2-1)

VA D(VE-1)
Lo V2(V2+1)

(V2-1)(v2+1)

=<2-V2>+<2+ 2>
=1+3=4 (v 1<+V2<15)




10. V143 9 @2 atsta, Vb=1.105 € W, a,b o] 327

> 0 1 2 3

1.0 | 1.000 | 1.005 1,010 1,015

1.1 ] 1,049 | 1.054 | 1,058 | 1.063

1.2 | 1,095 1,100 1,105 1.109

1.3 | 1.140 1,145 1,149 1,153

1.4 | 1,183 1,187 1,192 1,196

® a=1.000, b=1.13 @ a=1.005 b=1.15
® a=1.049, b =1.42 (@)a =1.196, b =1.22

® a=1.192, b=1.23

oA 1.43 & 2O 1,196 °]E & +1.43 = 1.196 ©|11, A|
29 gro] 1.105¢ AL ZFom 122 o|EHR 1.22 = 1.105
1o}, webA a = 1.196,b = 1.22 0|t}

F

o




11. A=4x+2, B=6x2-5x-40°|1
o g o2

=ax+b 2 HEIW o] A |, ab

|

@3 @5 -1 @-8 @ ©-9

B \

B 6x2-5x—4
A 4x+2
_ (2x+1)(3x—-4)
4x + 2
_ (2x+1)(3x—4)
2(2x+ 1)
-4
:3x2 —ax—+b
3 4
=—’b=——=—2
=3 2
3
Lab =" x(-2) = -3
a 2)(( )







13.

4x? —4x —a 7t F EAAO] o2 QIR HA, o] F 7t
2x+3 4w, a o F2?

O -15 @ -6 ® 3 @ 6 ®)15

B

4x% —4x—a = (2x+ 3) (bx + ¢)

= 2bx? 4+ (3b + 2¢)x + 3¢
2b=4, b=2
2c+3b=-4, c=-5
—a=3c=-15, a=15




14. T8 & (22 +2x)° - 11 (x + 2x) + 24 ©] 57} o} #L9

O x+4 @ x+3 @x+2 @ x-1 G x—2

B

¥4 2x=A 2 X35
(£4)=42-11A+24=(A-3)(A-8) o[tk
whehAd

(¥ +2x-3) (x® +2x-8)
=(x+3)(x-1)(x-2) (x+4)




15, oA x' -3x% +1°] (B +ax+b)(x* +ex+d) = 525 2 o,
a+b+c+d gZ& F5HH?

@ 2 @1 ® 0 @ -1 @—2

B \
¥ =X= 2gstd
¥ -3x2+1=X2-3X+1
=X’-2X+1-X
=(X-1)2-X
= (x2-1)% - x?
=(x2-1-x)(x*-1+x)
= -x-1)(x*+x-1)°|BE=
a=-1,b=-1,c=1,d=-1°]A4%
a=1,b=-1,¢c=-1,d=-1
SLa+b+c+d=-2




